“BreEsh sl w SRR A AU b IR RS

XRR R sl B3 BimR R

October 27th

In(cos x)

1. RAEFE: lim

z—0 tanZzx

o FARRR: lim 2

n—oo NN

3. SRR lim (€/n3+n2—|—n— \/n2+n>

n—o0

efsine — x(1+ x)

1 xX
lim 22 [(1—1—) —e+e}
r—00 x 2x

M — 0 B, HIWTR SR E RIS /BT AR
A1+ arcsine — V1 +x ByV1+2z—2—-1

C.zx(tanz — ) D.e' 2

4. RHEFR: lim

z—0 :L'3

5. RARFR:

=2

7. f(x) 2 XAEXE] [a, 0] ERREL, B & B < BT, PAFRIEATET bR 5
KR

a. f(x) 8 b f(@) W o flz) WIS d f(e) S

e flu) —BUEZL L f(o) AR g Var,aa € la,b], [f(21) — fz2)| < §lar —wal
8. AL f(z) #F (—oo,+00) LIAIFAZARBIA o1 < 22 < 23, @(x) BT (—00,+00)
PR LR AL, W AREL f(e(x)) TE (—oo, +00) b ().

A BZAT =ANAIW S

B. 1547 3 AR

C. HZT 3 MAIWF AR S Fo55 2Nl s

D. W] &4 55 £ A A

9. % f(z) = (2% —z = 2)|2® — x|, RAFHMNECR




10. SR f(2) = lnx+%o Sk
(1) 3K f(x) Wyfe/IMA
(2) &

/
3&5” {xn} {%/5—:' Inz, + <1, iqu limy, 00 Tn :{?‘Y:E, %;k.[ﬂfj&lgﬁ

Tn+1

11. jERH: z < arcsinx < , Hifo<z<1

1—z2

— 42

. €= . 42
12. % y = f(x) T i, K Lo
P +3ty+1=0

13. & y= (xS — 1)”6%, 3R y(”H)(l)o

14. % f(z) = (arcsinz)?, 3k F(0).

15. 1 & WA J(x) = axcton (I 0,a] 1000 Tagrange i Esmatin i, 5 1m * ba
16. % f(2) 7 [0,1] L2, 5 (0,1) B[S, H £(0) = f(1) =0, £(0.5) =1 iEW:

(1) f71E € € (0.5,1), fl f(§) =¢
(2) MTARRITE N, —&fFLE n € (0,6), 15 f/(n) —A(f(n) —n) = 1.

17. BERREL f(x) 75 [0,1] k3ELE, H £(0) = f(1). iEM: Vn > 2,n € N,3¢ € (0,1), fiifs
f(&) = fle+ 1.

188 S0) 4 o] B, T () HOBTS 0> a > 0), M A7 € € () 273
(6) 2 (“*b) fl@)= “‘ﬂf”@).




